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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet

61. If I ............... older, I would be able to vote in elections.

1. had 2.am 3. have 4. were
62.’m .............. I can’t help you with that.

1. apologies 2. afraid 3. regret 4. sad

63. He wondered what ...............

1. is the time? 2. was the time? 3. the time was 4. the time is

64. You cannot wear those shoes. They are ...............

1. too small 2. small enough 3. little 4. very little
65. He said he had seen her the .............. night.
1. last 2. before 3. previous 4. earlier
66- Did you ............... anywhere interesting last weekend?
1. went 2. going 3. was 4. 9o
67- 1 work as a teacher and my wife .............. too.
1. work 2. 1S 3. does 4. do
68- I think ............... taxi driver.
1. her job is 2.she’s a 3. her job 4. she’s
69- What is your home town ...............7
1. like 2. located 3. from 4. situated
70- They ... go to the cinema.

1. seldom 2. rare 3. much 4. tomorrow
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PART B: Reading Comprehension
Directions: Read the following passages and choose the best choice (1), (2), (3) or (4).

Then mark it on your answer sheet.

Most shoes are made to the basic design of the thick under part known as the sole,
which takes the wear and tear of walking and thinner upper part which encloses the foot.
However, as shoes are made to suit people living in climates ranging from tropical to the
very cold, and they are also made according to fashion, a tremendous variety of shoes has
been produced throughout the ages. Today, it is mainly women's shoes that are made to
different patterns from year to year; men’s shoes change much less, although in past
centuries, they have varied as much as women's. Most of the people of the ancient world
wear sandals with soles of leather or wood. They have been found in the tombs of the
ancient Egyptians. The Greeks wore shoes for the bath and high boots for hunting. These
were also worn by the Minoans of Crete and by the Romans. In the Middle Ages, shoes were
pointed but comfortable, for they were cut from soft leather or cloth to fit the shape of the
foot.

71. The passage is mainly about ...............

1. shoes for men and women

2. the variety of fashionable shoes

3. shoes in different climates and periods
4. the design of shoes in the ancient world

72. In the Middle Ages ...............

. shoes were small but comfortable

. shoes were as soft and sharp as leather
. people liked their feet to feel relaxed

. people's feet were fit for shoes

A WN PR

73. According to the passage, which sentence is NOT true?
. Shoes are different depending on climate.

. Men's shoes are less various than women's.

. Women wore more shoes than man.

. The Greeks wore different shoes for different purposes.

A wWN PR

74. The underlined word they refers to ...............
1. women's shoes 2. patterns 3. men 4. men's shoes

75. The underlined word tremendous is closest in meaning to ...............
1. exact 2. great 3. extra 4. series
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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet

76. Coffee is ............... in Colombia.

1. grown 2. been growing 3. grew 4. been grown
77. If they ............... the movie, they will see it again.

1. would like 2. will like 3. like 4. liked

78. Sometimes | use my computer ............... download music.

1. for 2. at 3.in 4.to

79. He actually prefers ............... to bed late every night.

1.go 2. gone 3. goes 4.to go

80. It is too late. We ............... take the local bus. It makes too many stops.
1. must 2. shouldn't 3. could 4. didn’t
81. We’re not used to ............... invited to very formal occasions.

1. being 2. have 3. be 4. having

82. Anyone................ after the start of the play is not allowed in until the
interval.

1. arrives 2. has arrived 3. arriving 4. arrived

83. I suggest we ............... outside the stadium tomorrow at 8.30.

1. meeting 2. meet 3. met 4. will meet
84. He spent a long time looking for a tie which ............... with his new shirt.
1. fixed 2. made 3. went 4. wore

85. You ought to take up swimming for the .............. of your health.

1. concern 2. sake 3. relief 4. cause
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PART B: Reading Comprehension
Directions: Read the following passages and choose the best choice (1), (2), (3) or (4).

Then mark it on your answer sheet.

The diseases connected to smoking are a big problem. Doctors think that
the annual medical cost for lung cancer, heart disease, and other illnesses
connected to smoking is between 12 and 35 million pounds.

Furthermore, smoking costs society money in other ways. Between 27
and 61 billion pounds are spent each year on sick days when people do
not go to work, on wages that you don't get when you don't go to work,
and on work lost at the company when you are sick.

This money counts the wages from people who die of cancer at young age
and stop paying taxes. This does not count fire started by cigarettes,
which kill fifteen hundred people yearly and injure another four thousand.
Smoking costs every man, woman and child in the UK from one hundred
and ten to two hundred and fifty pounds each year in the lost work and
wages. When you add another fifty to one hundred and fifty pounds
yearly in insurance cost, that comes to one hundred and sixty to four
hundred and ten pounds. If everyone stopped smoking, a family of four
could have up to one thousand six hundred and forty pounds a year more.
Smoking will also cause other problems. People who do not smoke will
live longer, and so they will take money from the government when they
are old. But they will also work for more years and pay more taxes.

In the end, the value of a non-smoking nation is not in pounds. The good
health of the people is the true value for us all.

86- If everyone stopped smoking, all the United Kingdom
1) would have less money

2) would have more money

3) would live longer

4) would have no more problems
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87- Every year companies lose ............... because of the disease.
1. time 2. wages 3. money 4. work
88- If everyone stopped smoking, a family of four could have ......... more each year.

1) from 160 thousand and 410 pounds
2) 160,040 pounds

3) from 1000 pounds to 640 pounds
4) 1,640 pounds

89- The true value for the UK of not smoking is ...............
1) good health
2) more working
3) more taxes
4) more money

90- This text is about ...............
1) how much the UK get if everyone stopped smoking
2) diseases that smokers get
3) taxes which are not paid by smokers
4) how much smoking costs the UK





